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FORENSIC SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The founder of Anthropometry was :
(A) Locard (B) Galton (C) Bertillon (D) Henry

2. The first Central Forensic Science Laboratory (CFSL) in India was established in :
(A) Delhi (B) Calcutta (C) Agra (D) Madras

3.  Match the following :
List - I List - II
a) (i) Fingerprint
b) Krogman (ii) Ballestics
c¢) Rai Bhadur Hem Chander Bose (iii) Document examination
(

d) Harrison iv) Forensic Anthropology
Code:(a) (b) (0 (@

(A) @) (@v) (1) (D)
(B) (@) (D) (v) (i)
© @) @@ @) (@)
(D) @) @) @) @)
4.  The book entitled “ An introduction to Criminalistics” was written by :
(A) Paul L. Kirk (B) Osterberg e O'Hara
(C) Safferestein (D) Nicholls
5. Assertion (A): The blood stain should be dried in sunlight and at room temperature.
Reason (R) : The blood decomposes under these conditions.
(A) (A)is true and (R) is false (B) Both (A) and (R) are true
(C) Both (A) and (R)are false (D) (A)is false and (R) is true
6.  Barrier filter is used in :
(A) Polarising microscope (B)  Fluorescent microscope
(C) Scanning electron microscope (D) Infra - red microscope

7.  The visible spectrum in EMR has the following range :

(A) 3700 - 7800 A° (B) 8000 - 12000 A°
(C) 12000 - 18000 A° (D) 18000 - 25000 A°
8.  Numerical aperture of the objective lens of microscope is equal to the following :
1
(A) on sin 0 (B) 0.61 \/sin 6 (C) nsin6 (D) None of these

D —8208 2



faty-famm

oA —11

Me: U YT # U= (50) T5-fahedE UoH €1 YIS U 6 oY (2) 3k &1 |t yei O W

i

1. TR % HETIeHh hid & ?

(A) T (B) TR (C) =t (D) T
2. vy e fafy foagm wemmmen (H.uh. wE. e, ) YRa | el nfyd i T ?

(A) foee (B)  hetehdll (C) 3 (D) wgEE
3. Yufea sifS

-1 -1

(a) e (i) effersm

(b) HRTEA (i) oA fagm

(c) T I 81 o5 o (iii) SEATCST TLETO

d) e (v) fafer ama fomm

F:E: @) © (© @

(A) @) (v) () (i)

B) (@) @) (v) (i)

© (@) @ @) (v)

D) @ () (@) (v)
4. ‘T zodewM T Primfafesy’ wids w e R oras | fodt €2

(A) dd TA. &k (B) =t TS 3l B

(C) FHEH (D) frenlerg

5. HAT(A): TH % U3 I PI *I I 3R FHH % WA 99 H GE@RT S A1 |
ek (R): 3 Teafadi o 5 fowfeq & s 1

(A) (A) & & W (R) e € (B) (A) 3R (R) 3 T ¥

(C) (A) 3R (R) i TTerd T | (D) (A) 7Tod § iR (R) W&t B
6. SfER ftheet ¥g® B T

(A) oS gaAest (B) TR geHewE

(C) T et et (D) T3I-XE gemeet
7. 3 U9 R H g¥F ey &I IS

(A) 3700 - 7800 A° (B) 8000 - 12000 A®

(C) 12000 - 18000 A° (D) 18000 - 25000 A°
8. aUEM % eevfaed T i =HRed TR 1 % g At ¥

(A) %mwe (B) 0.61 \/HEA 6

(C) nEEA 6 (D) ST H 9 & off T

D —8208 3 P.T.O.



10.

11.

12.

13.

14.

15.

16.

Refractive index is the measure of :
(A) Diffraction (B) Refraction
(C) Reflection (D) None of these

Assertion (A) : Vacuum is maintained in electron microscope.

Reason (R) : It impedes the movement of electrons.
(A) Both (A) and (R) are true (B) Both (A) and (R)are false
(C) (A)is false and (R) is true (D) (A) is true and (R) is false

Nucleated RBC are found in :
(A) Human (B) Camel (C) Monkey (D) Cow

The preliminary examination of blood can be done by :

(i) Phenolphthalein test (i) Preceptin test
(i) Takayama Crystal test (iv) Luminal test
Choose the correct combination according to the code :
Code : (A) (i) and (ii) are correct (B) (i) and (iv) are correct
(C) (ii) and (iii) are correct (D) (i), (ii) and (iii) are correct

If the blood group of the father is AB and mother has O group, the possible blood
groups in the offspring may be :

(A) B (B) AB <) A (D) All the above

HLA is found in :
(A) RBC (B) WBC (C) Platelet (D) Serum

Match the following :

List - 1 List - 11
(a) Spermine (i) Blood
(b) Haemoglobin (i) Sweat
() Amylase (iii) Semen
(d) Sodium Chloride (iv) Saliva
Code

(@ ((b) () (@
(A) @) @ (@v) (i)
(B) @) (@v) (@) ()
© @ () (@v) (i)
(D) @) (D) (@v) @)

Which of the following insecticide is a Cholinesterase inhibitor ?
(A) BHC (B) DDT (C) Parathion (D) Carbamate

D —8208 4



10.

11.

12.

13.

14.

15.

16.
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17.

18.

19.

20.

21.

Match the following :

List - 1 List - 11
(a) Crack (i) Marijuna
(b) Junk (i) Amphetamine
() Pot (iii) Cocaine
(d) Up (iv) Heroin
Code:(a) (b) (o) (d)
(A) @) @Gv) @ ()
(B) @) @ G (Gv)
© @ () @@ @)
(D) Gv) @) (D) (i)

The following are used as drug of abuse :

(i) Barbiturates

(i) Asprin

(iii) Diazepam

(iv) Heroin

Choose the correct combination according to the code :

Code : (A) (iii) and (ii) are correct (B)
(C) (i), (iii) and (iv) are correct (D)

(ii), (iii) and (iv) are correct
(i) and (ii) are correct

Arrange the following in the proper sequence :

(i) Charas (i) Bhang

(i) A - THC? (iv) Ganja

Code : (A) (i), (i), (iv) and (ii) (B) (i), (iv), (i) and (iii)
(©) (i), (i), (iv) and (i) (D) (iv), (ii), (i) and (iii)

Dry Ash method is used for the extraction of the following poisons from Viscera :
(A) Metallic poison (B)
(C) Non - Volatile poison (D)

Volatile poison
Vegetable poison

Match the following :

List - 1 List - 11
(Pellet) (Diameter in mm)
(@) L.G @i 6.83
(b) S.G (i) 9.14
() S.S.G (i) 5.16
(d) A. A A (iv) 8.43
Code:(a) (b) (¢) ()
A) @ @) @3 ()
®B) @) (@) @Gv) (@)
Q) @) @@ (@Gv) (i)
(D) @) (@v) (@) (i)



17.

18.

19.

20.

21.

D —8208 7 P.T.O.

-1 -1I
(a) h® () AT
(b) & (i) TR
(c) T (iii) IR
(d) 19 (iv) Tl

FE: (@ b (© @
(iv) (@) (i)
M ) (v)

(i) (i) (iv)

(i) () (i)

Frefafea 1 Teic el & &9 § v fhan s ¢

() “RfaeEd (i) TS (iii) feammm (iv) Telisa

[N

Sd hiS ¥ TRl = (S1S) 1 =99 HI
WIS : (A) (iii) 3R (ii) TEl T (B) (i), (iii) 3R (iv) &t ¥
(©) (), (i) 3R (iv) T T (D) (i) 3R (ii) W T
frefafad w1 9@ 0 § afied Hifv :
() =™ (i) (i) A -JATEH  (iv) TN
HiT : (A) (i), (iii), (iv) 3R (ii) (B) (i), (iv), (i) 3R (i)
(C) (i), (iid), (iv) ¥ (i) (D) (i), (i), (i) ¥ (i)
o & @ f=1 fow 1 gores e o o 3o wa (o W) fafy 1 sgan foen Sman @
(A) g faw (B) oI faw
(Q) R - aroft faw (D) amEfa faw
frefafad § gia Sor ;
gt - 1 et - 11
(&%) (T7 TF 4 =774 )
(@) TS i 6.83
(b) TESL i) 9.14
(c) THTHSH (it)) 5.16
d Tum (iv) 8.43

SoE=zz



22.

Arrange the various forms of fire arms in the chronological order :

(i)  Wheel lock (i) Match lock

(iii) Percussion lock (iv) Flint lock

Code:(a) (b) (o) (d)

(&) @) i) ) @)

(B) (i) (v) () (i)

(©) @) (@) @dv) @)

(D) Gv) (@) @) (D)
23. gelatin gel block is used for the study of wound ballastics.

(A) 5% (B) 10% (C) 15% (D) 20%
24. Stud gun is also called as :

(A) Cattle gun (B) Sports gun (C) Tamancha (D) Revolver
25. HMXis:

(A) Nitrofurane (B) Nitro-aniline

(C) Cyclotetra Methylene Tetra nitra - amine (D) Nitrotolune
26. Human hair has the medullary index of less of the hair.

(A) lgrd (B) 24 (C) It (D) None of these.
27. Match the following :

List - I List - II

(a) Wool (i) Plant fibre

(b) Nylon (i) Mineral fibre

(c) Cotton (iii) Synthetic fibre

(d) Asbestoss (iv) Animal fibre

Code:(a) (b) (o) (d)

(A) 0 @) i) G

(B) (i) (v) (1) (i)

(©) Gv) (@) @ ()

D) (v @ @) 0
28. Acid phosphatase test is performed to detect :

(A) Urine (B) Saliva (C) Blood (D) Semen
29. Human hair scale has the following pattern :

(A) Simple (B) Elongated (C) Flattened (D) None of these

30.

The following are the tests to detect semen :

(i) Barberio’s test (i) Benzidine test
(iii) Florence test (iv) Absorption - Elution test
The correct combination in the above is :

(A) (i) and (ii) (B) (i) and (iii) ©

(i) and (iv) (D)

D —8208 8
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22.

23.

24.

25.

26.

27.

28.

29.

30.

3 SR o fafif YRl &l SHICTHATTER Safeerd ST :
(i) = Ak () HEA® (i) WRIH AR (iv) fRie @iw
FE:@ B (© @

(A) () () (iv) (i)
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31.

32.

33.

34.

35.

36.

37.

Refractive index of the glass can be determined by :

(i) Abbe’s refractometer (ii) Free floatation method

(iii) Beckeline method (iv) GRIMII

Code : (A) (iii) and (iv) are correct (B) (i) and (ii) are correct
(C) (i) and (iv) are correct (D) (ii) and (iv)are correct

Arrange in the sequence :
Soil examination can be done by the following methods :

(i) Mineral analysis (i) Density determination

(iii) Colour examination (iv) Enzymatic analysis

Code : (A) (@), (@v), (iii) and (ii) (B) (i), (ii), (i) and (iv)
(©) (i), (i), (iii) and (iv) (D) (v), (ii), (iii) and (i)

Match the following :

List - 1 List - 11
(a) Examination of ink (i) Spectrograph
(b) Trace element detection in paint (ii) Micrometer
sample
(c) Comparison of Tool marks (i) TLC
(d) Examination of paper (iv) Comparison microscope
Code:(a) (b) (c) (d)
@ O (v G G
B () ) 0 @)
© @) O ) )
D) (v ) 0 ()
Heat resistant glass (pyrex etc) contains more silica (75% - 80%) and upto 15% :
(A) Lead oxide (B) Aluminium oxide
(C) Boron trioxide (D) Magnesium oxide

The following material is useful for casting of tool marks :
(A) Plaster of Paris (B) Plasticine (C) Wax (D) Woods metal

The race of a person can be determined by :
(A) Pubic index (B) Cephalic index
(C) Dental index (D) Spinal index

Assertion (A) : Ossification of bone helps in determination of age.

Reason (R) : Because ossification is the process of bone formation.
(A) (A) is true but (R) is false (B) (R) is true but (A) is false
(C) Both (A) and (R)are false (D) Both (A) and (R) are true
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31. A % UEdHI hl fFEd i foran < gehar €72

() TsS % SFUEdAIRAT (Test | R Ie)

(i) Rl TeAreRE fafy

(iii) SpemeA fafy

(iv) M1

HiS: (A) (i) 3R (iv) T T (B) (i) 3 (ii) W ¥

(C) (i) ¥R (iv) T& ¥ (D) (i) 3R (iv) T& 1

32. W&l HH MW
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(d) TS T &l (iv) oIS HIZHIEh

FS: (@) b () (d)

(A) () (v) (i) (i)

(B) i) (D) (@) (i)

(© () @) (v) (i)

(D) (v) () @ (i)
34. TH qek HiE (UEE 3AE) H Afrs fafaewt (75% - 80%) 3R 15% T T

(A) T RS (B) UMM SeES

(C) dH TEAFES (D) Hiftem sffamEe
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(C) (A) 3R (R) i TTera T | (D) (A) 3R (R) <M w&t )
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38.

39.

40.

41.

42.

Match the following :

List - I List - 11
(@) Pelvis (i) Height
(b)  Dentition (i) Race
(c) Length of long bones (iii) Sex
(d) Prognathism (iv) Age
Code:(a) (b) (0 (@
@) O @ @ W
B ) @O @) (i)
© ) @) O G
D) ) @ @) 0
Metopic Suture fuses by the age of :
(A) 2 years (B) 10 years (C) 15 years (D)

Central Incisors (Temporary) starts erupting at the age of :
(A) 2-3 months (B) 4 -5 months
(C) 6 -8 months (D) 10 - 14 months

Match the following :

List - 1 List - 11
(a) A.F.LS. (i) Document examination
(b) V.S.C (ii) Fired bullet examination
(c) Comparison microscope (iii) Bone measurement
(d) Anthropometer (iv) Fingerprint examination
Code:(a) (b) (o) (d)
(A) Gv) @ ) (D)
(B) Gv) (@) @) ()
© @ (@) @@ @)
(D) @) (@) (@v) @)

In development of latent fingerprint Ninhydrin reacts with :
(A) Fatty acid (B) Sodium Chloride
(C) Amino acid (D) Urea

D —8208 12
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Match the following :
The secret writing can be restored by the following :

List - 1 List - 11
(Secret writing) (Reagent)
(@) Milk (i) Hydrogen sulphide fumes
(b) Soap (i) Potassium ferricyanide
() Iron Salt (iii) Heat
(d) Lead Salt (iv) Water
Code:(a) (b) (c) (d)
A () G (@) (@)
® () (v (@ 0
© @) () (v ()
O () O @) @)

The latent fingerprint on wet surface can be developed by :
(A) Fingerprint powder developing method

(B) Silver Nitrate method

(C) Ninhydrin method

(D) Small particle reagent method

Death by throttling denotes :
A) Suicidal death (B)

( Accidental death
(C) Homicidal death (D)

Natural death

Read the following passage and answer Q 46 - Q 50.

A dead body of unidentified person with a bullet injury on his chest was found
on the road side. There were nail marks on the face of this person. A stick was clenched
in his hand.

The entry wound have the following characteristics :
(A) Inverted (B) Everted
(C) Lacerated in larger size (D) None of these

The range of firing can be determined by :
(A) Burning (B) Scorching (C) Tattooing (D) All of these
The nail mark on the face indicates :

(A) Incised wound (B) Lacerated wound

(C) Contusion (D) Abrasion

The individualization of the person can be done with the help of :
(A) Examination of nail marks (B) DNA examination of blood
(C) Clothes of the dead body (D) All of these

The clenched stick indicates :

(A) Cadaveric spasm (B) Rigor mortis
(C) Mummification (D) Pugilistic aptitude
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